Question 1a Flow Chart   
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Initialize:


-Reserve 1 byte each for NUM1HI, NUM1LO, NUM2HI, NUM2LO, CONSTANT1, CONSTANT2 (constant variable for values of high bytes of two 16 bit numbers)  


-Reserve 2 bytes each for WORD1 and WORD2 (multiplier and multiplicand)


-Reserve 4 bytes for 32-bit RESULT





Convert to signed numbers, 


check 7th  bit of CONSTANT1 and CONSTANT2





Multiply NUM1HI by NUM2LO 





Is carry flag set?





Take twos complement of high and low byte separately and then decrement high byte





Multiply NUM1HI by NUM2HI and save product in high word of RESULT





Is bit set?





Multiply NUM1LO by NUM2LO and save product in low word of RESULT





Increment higher byte of high word of RESULT  





Add low byte product (PRODL) to the upper byte of the low word of RESULT 





Add high byte product (PRODH) to the lower byte of the high word of RESULT with carry.  








end  





Set Negative flag by taking XOR of CONSTANT1 and CONSTANT2  








